Addition

A A a #4

KZA,}_\AQL{AA We can partition
17 + 5= 22 A'A

lace value
£ 7 18 19 20 21 22

5into 3 and 2
and wse this to

bridge the [0.

tens
ones
,p,ar,ti,ti,on

add +

less than 6L + 12 = 76 64 + |7 = 8l
more thaon b ones + 2 ones = 6 ones b ones + 7 ones = Il ones
equal to 6 tens + | ten = 7 tens 6 tens + | ten =7 tens

exchange 7 tens + 6 ones = 76 7 tens + |l ones = 8l

L + 3 + 6

Use <, >.or = to compare the numhber sentences.

Find a EE LR
bhond to 10 90000 4+6=10 S5+ 4+ 6=6+5+4

then add
7+3+8>7+7+ 3
the third ’E‘EP 1M0M+3=13

numhber.




